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HALF YEARLY EXAMINATION 2023

8 -sm ~ MATHEMATICS |
TIME: 3.00 Hrs ' ' Macks:10
‘ PART-A
I. Choose the Correct answer. : ' ' i - 10x1=10
1. The square of 43 ends with the digit......a)9 b)6 c)}4  d)3 - :
10)( 9 | & y . o ' ) :
If = =107, then xis ..... a)4 b)5 «¢)6 d)7
3. a3+b3=.(a+b)3-i...'.' ....... ’ R A
a) 3a(a+b) © b)3ab(ab) c)-3ab(atb) . d)3ab(a+b)
4. Two similartriangle will always have ......... angles. :
a) acute .~ -b)obtuse c)right d) matching
5. What s the eleventh Fibonacci number? = ' |
a)55 - o BT c)89 - - .d)144 .
-6. Closure property is not true for division of rational numbers because of the number
a)1 ‘ b) -1 : c)0 - : d) %2
7. /48 is approximately equal to ...... e W g
a)5 - o b) 6 v o) T NG N8
8 ~ If the area of square is 36x*y? then its side is ..... y ‘
a)6xly? - b)) 8xy? - c) 6x%y ~d)-6x?y

9. Onefagtorof ®+:y%is a)(x-y) b)(x+y) c)(x+yp d)(x-y)
10. How many 2 digit numbers contain the number 7. '

a)10 ' b)18 = . - e)y19 d) 20
II. Fill in the blanks _ - o . 5 ' 5x1=5
11. The rational number ........... does not have a receiprocal. b
12. The longest chord of acircle is .......
13. BXY X oo =-12x% '

14. Loss or gain percentage is always calculated on the eidunenanaie

15. Corresponding sides of similar tnangles are o v

lil. True /False _ : ' SN 4x1=4
16. 0 is the smallest ratlonal number R P ' :
17. Linear equation in one variable has only one varlable with power 2:

18. 8,15,17isa phythagorean triplet.

19. The incentre is equidistant from all the vertlces of a trlangle

IV. Match the following . | 3x1=5
20. Area of circle - 1/4 1_tr2 _ 2

21. Circumference of a circle = (E2) L ' o

22.- Area of the sector of a circle - mr?

23. Circumference of a semicircle - 2rr

. - ; : 2

24, Area of ? quadrant Of? circle 360° xmr
g : PART - B

V. ,Answer any Ten qu'e,stlons only. e e 10x2=20
25, Adg: 23,247 '
9°'3'12

; 26 Find the squ fact tion. :
quare root of 324 by prime factorisati 8 - MATHS - PAGE 1
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35.
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37.
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A circle of l'adlUS 70cm is divided into 5 equal sectors Fmd the area of each of the

sectors. o 4

lee two examples of 3 - D shapes with their names. _

If the length and breadth of a rectangular painting are 4xy® and 3x?y. Find its area.
Find the volume of (98)

Factorise : x2 + 14x + 49

One number is-seven times another. If thelr difference is 18, find the numbers.

If x% of 600 is 450, then find the value of x.
Prove that APQR ~ APRS in the given-figure.

Vg '
d“’

)

// wE

15cm R .
A 20 feet Iadder leans agalnst a wall at height of 16 feet from the ground. How faris -
the base of the ladder from the wall? ’
In how many ways can the students answer 3 true or false type questlons ina shp
test?
Flnd the dlfference inC.l'and S.I for P =35000, r = 4%p.a.andn=2 years.
PART - C

VI. Answer any eight of the following : : _ N 8x5=40

38.

39.
- 40.

41.
42,

43,

45.
46.
47,
| VL.
48.

49.

e 4 ot .y -3 7 -15 14 -8
Arrange the foltowlng in ascendm_g order 51020 ‘230’15
. _ 2x-1 g ”
Solve fOI'X‘ Sx2 =4.

Kamalesh has a dming table, circular in shape of radius 70cm whereas Tharun has a
circular quadrant dining table of radius 140cm Whose dining table has a greater area.
[t=22/7]

Factorise : x*+ 15x2+ 75x + 125
Mother is five times as old as her daughter. After 2 years, the mother W|II be four times
as old as her daughter. What are their present ages'?

A and B together can do a piece of work in 16 days and A alone candoitin 48 days
How long will B take to complete the work?.

.

. The value of a motor cycle 2 years ago was ? 70000. It depreciates at the rate 4% p a.
“Find its present value.

An isosceles triangle has equal sides each 13cm and a base 24cm in length. Find its
height.
In class VIII, a match club has four members M, A, T and H. Find the number of
different ways, the club can elect:i) a leader.-ii) a leader and an assistant leader.
Using repeated subtraction method, find the HCF of the followmg
i)42and70 ii) 36 and 80 '
Answer the following'questions. ' 2x8=16,
a) Construct a quadnlated DEAR with DE = 6cm, EA = Scm AR =5.5¢cm, RD =

5.2cm and DA = 10cm. Also find its area. (OR) .,
b) Construct a rhombus ROSE with RO = 5¢m and RS = 8cm. Also find its area.
a) Plot the points in a graph sheet. A (5, 2), B (-7, -3), C(-2, 4), D(-1, -1) and E (0, -5)
. (OR)
b) Drawa straight line by joining the ponntsA(-2 6) and B (4,-3)
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